Employability Skill / TSI Sierer

ITI 15t Year, Common For All Trade
Module: Labour welfare legislation (English/ fg€})

1 As per factories act, 1948 canteen should be

provided in the factory if, workers are more

SR HTAATH, 1948 & ITER HRTEA H
HET FI cgaeAT Fr S arfey, IS AfAS
a s g

A 100

B 250

C 500

D 1000

2 Under factories Act, the restriction on working
time of women is.....

el Tare & dgd ATed3iT & HH e & TAT W
gfaeer ... :

A before 5 AM and beyond 7 PM §eg 5 & &
ugel AR A 7 g9 & 96

B before 6 AM and beyond 7 PM §«g 6 s &
ugel AR A 7 g9 & 95

C before 6 AM and beyond 8 PM §eg 6 af &
uger 3R T 8 T F TIE

D before 7 AM and beyond 8 PM Hsg 7 o1 &
uger 3R T 8 T F TG

3 Under Factories Act, the workers weekly hours
should not exceed more than...............

FREET JRAFTT F ggd, sfAH & geafs g
A 60 hours 60 ©C
B 50 hours 50 €¢
C 48 hours 48 g¢
D 40 hours 40 &¢

Solutions and Explanation on
YouTube Channel

4 What is the expansion of ILO?

ILO T fa&ar =1 87

A International Labour Organization 37cRTSEIT s
HIST

B Indian Labour Organization HaRAT HH TS

C Indian Labour Occupation IR HH IIAI

D International Labour Occupation 37cRTSEIT e

[EpsIE)

5 What is the minimum percentage of
employee’s contribution from the basic salary, as
per EPF Act, 19627

sUUe HfRfAH, 1962 & HTaR AT ddd @
HHAARY & AWTET Hl wAdH Ficred 41 g2

A 8.50%

B 9%

C 12%

D 12.50%

6 Which amount does include in “wages”
amount as per payment wages Act?

AT Aol AAATH & 3TaAR "l ARy A
Sl & A enfAer 82

A. Dearness allowance HgINS $Tcam

B Any travelling allowances @I T &edl

C Any remuneration payable in respect of
overtime 3NaCIBA & T H T FIg TIRHATAF
D Any remuneration payable under any award

forell o EFR & d6d &7 F1S TRARS

Ans Key 1-B, 2-B, 3-C, 4-A, 5-C, 6-A,

Open Mind Guruji
For More Updates


https://www.youtube.com/channel/UCn_aj5_jQMljFkinDY4nt8g
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7 Which factor is NOT concerned with
occupational health and safety?

il HT R SATGHTS FAELT 3N FReTm &
A Safety gIa&mm

B Health ¥ar&eg

C Welfare &edroT

D Salary ddsT

8 Which one of the following is an air pollutant?
fAFfafed & 4 &l v ay youe 82

A Oxygen 3iTergrsteT

B Nitrogen siTgcistet

C Carbon dioxide e SIS3TFASS

D Carbon monoxide FIeel AAIANFATSS

9 Which scheme of Act provides health
insurance requirements for workers?

sfafaga & wla @ A 4fF7a F PT Farey
AT HTALTHRATIHT B IGTed Il 872

A Factories Act SR@EMAT JfATATH

B Plantation Labor Act g&TRIqoT si# ifafags

C Employee’s Compensation Act &Y IS
yffags

D Employee’s state Insurance Act HHTRT IT
AT HAfATH

Ans Key 7-D, 8-D, 9-D

Solutions and Explanation on Open Mind Guruji
YouTube Channel For More Updates


https://www.youtube.com/channel/UCn_aj5_jQMljFkinDY4nt8g

